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Chapter 04 |FTA| E9]

4.1
3 -1 2 -3 X,
1 2 -1 -2 X,
A= , X=
1 -2 7 2 X,
11 -4 1 X,
4.2
1 1 -3
c'-|4 5 _5
—4 2 -6

Command Window

= h=[2 4 -3:1 6 1;-1 =2 -3];
>» B=[1 01:01 -1;:2 3 3];:
>> C=4-B
E =

1 4 -4

1 5 2

-3 -5 -G
== 0
ans =

1 1 -3

4 5 -5

-4 2 -G




4.3

Command Window

= 4=[2 4 -3;1 B 1;-1 -2 -3];
= B=[1 0 1:01 -1:2 3 3];
=x C=A-H;
> (4+B1+C
ans =
4 a -6
z 12 z
-2 -4 -6
> A+ (B+C)
ans =
4 a -6
z 12 z
-2 -4 -6




4.4
FAlol digh wE WA AB=BAL A HA e

e 1 .

AB - {(—7) x11+(-8)x(-9) (~7)x5+(-8)x (_4)} _ {_ 5 - 3}

6x11+2x%x(-9) 6x5+2x(-4) 48 22
A 11x(-7)+5x6 11x(-8)+5x2 | [-47 -T8
{(—9)x(—7)+(—4)x6 (—9)x(—8)+(—4)x2H 39 64}

Command Window

»» &=[-7 856 2];
=» B=[11 5;-9 -4];
== A+B
ang =
-5 -3
43 2z
»» Bl
ang =
=47 78
39 B4




4.5

Command Window

== h=[-7 -5 2:10 6 1;3 -9 8];
> B=[3 -2 1;6 8 -5;7 9 10];
»»> C=[69 -4;783:-821];
> (#+B1+C
ans =
-h52 -297 162
T 22 -191
-1000 325 BG
=> 4+ (B+C)
ans =
-h52 -297 162
T 22 -191
-1000 325 BG

4.6

5 2 -1 1.6667 0.6667 —0.3333
A*=>|-2 1 1 |=|-0.6667 0.3333 0.3333
-2 -2 1 —-0.6667 —-0.6667 0.3333

Command Window
=» A=[1,0,1:0,1,-1;2,2,3]:
== det(4)

ans =
3

== invih)

ans =
1.B667 0.6e67  -0,3333

-0. 6667 0.3333 0.3333
-0.6667  -0.6667 0.3333




4.7

X1 = 3,x2 = 0,x3 =-1
Command Window
== A=[1,0,1:0,1,-1:2,2,3];
=xoinv(A);
=x o=[2:1:3];
== w=inv(d)+c
x =
3. 0000
0.0oa0
-1.0000
= n=hitc
x =
3
0
-1
4.8
X, =3, X,=0,%x;=-1
4.9
X, =0, X,=-1,x =1
4.10
X,=0,X,=2,X,=0,x =1




4.11

Command Window
= 4=[1,-1,0,0;-1,5,2,0:0,2,2,2:0,0,2,8];
> c=[1:3:;4:4];
»> Gaussih,c)

ans =

[ T LW e T

-07 02 03
A*=/-13 -02 07
08 02 -02

4.14

-07 02 03
A'=|-13 -02 07
08 02 -02

4.15
X, -8
X, |=1] 3/2
X, 25/2



4.16

4.17

4.18



4.19

Command Window

»» 8=[1,6,-1,6:2,-1.1,-2;-1,4,-1,3:3.-7.-2.1];
> (LU PI=lul4)
L =
1.0000 0 0 0
0.3335 1.0000 a 0
0.B6E7 0. 5000 1.0000 0
-0.3335 0.2273 -0.6364 1.0000
= I
3.0000  -7.0000 -2.0000 1. 0000
a T.3333  -0.3333 5. GEGT
a 0 2.8000  -5,5000
a 0 o -1.4545
P =
a a 1] 1
1 a 0 a
a 1 0 a
a a 1 a




Command Window
»> o=[19;7:20;-75];
x> d=P+c

== y=l4d

=75, 0000
44,0000
35,0000

72727

=x ow=l My

2. 0000
10,0000
3.0000
-5.0000




